488 : 5km (15~49F % F)

Nopn—-F K & F5 FF 2 =3 Nop—~ K & F5 & 2 =
401 fvk 3K 29 1BEsh 421 K=F BF 44 )1\Fh

402 H REB 32 eEs™ 422 prm=7F 35 R%h NFC RC
403 &M BT 47 FRiEm 423 BE =M 33 HIHER

404 fBA M 29 BEsh 424 R %1 30 MBS

405 /\RIBERE 37 BEM BEEEREE 425 HR ®IE 30 eEsh

406 AIEELF 29 ElEm 426 BEFEMIKT 41 MBsmh

407 & &F 47 REM 427 M 4§ 30 MUK

408 BF =N0 24 R"F|rh ROEFESKI=L| 428 B 87F 47 #pP™

409 KRB B 39 HEsm 429 RE BAF 47 RSerh FRES
410 WA [FF 46 @PM 430 BR EX 46 KIRAT

411 EB FHB 33 Stbm 431 N5 0% 47 KIRAT

412 RE Bix 20 #BR 432 HEB ®IfE 34 R NFC RC
413 iy THL 26 eEsH

414 71514 21 R¥EM NFC RC

415 T8 BF 40 BB RARYY

416 ER 8 26 1200

417 BE % 37 |Em

418 KREKO2H 44 WBismh

419 BE HF 47 BEsh

420 HLE B 40 00




